K Titon

INDUSTRIAL FITTINGS

PIPE FITTINGS

— P|PE FITTINGS - IMPERIAL
= e

=

iy

i

Flush Mount Male and Female

Cap Hex Plug Male to Female Adaptor Reducing Bush Male and Female Reducing Bush Female Hex Socket Female Reducing Bush Male Reducing Nipple
313302 - 1/8” 315204 - /4" 1750G 1/8” 1/4” SAE 32230402 1/4” 1/8” 32240402 /4" 1/8” 330002 01026-02 1/8” 33040402 /4" /8" 33240402 1/4” 1/8”
313304 - 1/4” 315206 - 3/8” 1755 1/8” 6mm 32230604 3/8” /4" 32240602 3/8” 1/8” 330004 01026-04 /4" 33040602 3/8” 1/8” 33240602 3/8” 1/8”
313306 - 3/8” 315208 - 172 32000202 1/8” 1/8” 32230806 172”7 3/8” 32240604 3/8” 1/4” 330006 01026-06 3/8” 33040604 3/8” /4" 33240604 3/8” 1/4”
313308 - 1727 315212 - 3/4” 01072-020224 1/8” 1/8” x 12" L 32240802 172”7 1/8” 330008 01026-08 1/2” 33040802 1727 1/8” 33240802 /27 1/8”

315216 - 1 32000402 1/4” 1/8” 32240804 172” 1/4” 330012 01026-12 3/4” 33040804 172" /4" 33240804 172" /4"
32000404 1/4” 1/4” 32240806 /2" 3/8” 330016 01026-16 1 33040806 1/2” 3/8” 33240806 172" 3/8”
32000602 3/8” 1/8” 32241202 3/4” 1/8” 33041206 3/4” 3/8” 33241204 3/4” /4
32000604 3/8” 1/4” 32241204 3/4” 4" 33041208 3/4" 1/2” 33241206 3/4” 3/8”
32000606 3/8” 3/8” 32241206 3/4” 3/8” 33041612 1” 3/4” 33241208 3/4” 172"
32000804 1/2” 1/4” 32241208 3/4” 1727 33241608 1 1/2”
32000806 172" 3/8” 32241606 1 3/8” 33241612 e 3/4”
32000808 172" 1/2” 32241608 1 172"

32001204 3/4” 1/4” 32241612 Ig 3/4”
32001206 3/4” 3/8”
32001208 3/4” 1/2”
32001212 3/4” 3/4"
32001608 1" 1/2”
32001612 1" 3/4”

Male Hex Nipple Male Long Barrel Nipple Male to Female 90° Elbow 45° Female Elbow 45° Male to Female Elbow Female 90° Elbow 90° Male Elbow Female Tee
332502 01027-02 1/8” 33270215 1/8” 15" 340002 1/8” /8” 35004502  01034-4502 /8" 34004502 1/8” 1/8” 350002 01034-02 1/8” 36000202 1/8” /8" 370002 01035-02 1/8”
332504 01027-04 1/4” 3327022 1/8” 2" 340004 1/4” 1/4” 35004504  01034-4504 1/4” 3400450204 1/8” /4" 350004 01034-04 1/4” 36000402 1/4” 1/8” 370004 01035-04 1/4”
332506 01027-06 3/8” 3327022.5 1/8” 25" 340006 3/8” 3/8” 35004506  01034-4506 3/8” 34004504 1/4” /4" 350006 01034-06 3/8” 36000404 /4" 1/4” 370006 01035-06 3/8”
332508 01027-08 1/2” 3327023 1/8” 3" 340008 1/2” 172" 34004506 3/8” 3/8” 350008 01034-08 1/2” 36000604 3/8” 1/4” 370008 01035-08 172"
332512 01027-12 3/4” 3327024 1/8” 4" 34004508 172" 172" 36000606 3/8” 3/8”

332516 01027-16 1 33270415 1/4” 1/5” 36000806 172" 3/8”

3327042 1/4” 2" 36000808 172" 172"

33270425 1/4” 25"

3327043 1/4” 3"

3327044 1/4” 4"

3327046 1/4” 6"

3327061.5 3/8” 1.5”

3327062 3/8” 2"

332762.5 3/8” 25"

3327063 3/8” 3"

3327065 3/8” 5”

3327082 1/2” 2"

3327082.5 1/2” 25"

3327083 172" 3”

PIPEFITTINGS - METRIC
S A f,,——vf e 4\
%\

Female Cross Male to Female Run Tee 35Tee 75Y Piece Metric Hex Plug Male to Female Adaptor Male and Female Reducing Bush Hex Socket
390002 01037-02 1/8” 400002 /8" 1/8” 01035-04M 1/4” Male 01075-02 1/8” Female 3152M12 01064-M12 MI12x1.5 3200M1202 MI2x1.5 1/8” BSP 3224M1402 Mi4 x1.5 1/8” BSP 3300M12 01026-M12 MI12x1.5
390004 01037-04 /4" 400004 1/4” /4" 01035-04MF /4" Male/Female 01075-04 /4" Female 3152M14 01064-M14 M14x1.5 3200M1204 MI2x1.5 1/4” BSP 3224M1602 M16x1.5 1/8” BSP 3300M14 01026-M14 M14 x1.5
390006 01037-06 3/8” 400006 3/8” 3/8” 01035-06MF 3/8” Male/Female 01075-M04 1/4” Male 3152M16 01064-M16 MI16x1.5 3200M1404 M14 x1.5 1/4” BSP 3224M1604 M16 x 1.5 1/4” BSP 3300M16 01026-M16 M16x1.5
390008 01037-08 172" 400008 172" 172" 01035-08MF 172" Male/Female 01075-M06 3/8” Male 3152M18 01064-M18 MI8 x1.5 3200M1604 M16x1.5 1/4” BSP 3224M1804 MI8 x1.5 1/4” BSP 3300M18 01026-M18 MI8x1.5

3152M20 01064-M20  M20x15 3224M2004 M20 x1.5 1/4" BSP 3300M20 01026-M20  M20x15
3152M22 01064-M22 M22x1.5 3224M2204 M22x1.5 1/4” BSP 3300M22 01026-M22 M22x1.5
3152M24 01064-M24  M24x15 3224M2206 M22x1.5 3/8"BSP 3300M24 01026-M24  M24x2.0
3224M2406 M24x20  3/8"BSP
—— AIRLINE FITTINGS - IMPERIAL
m‘ a | R |
[} e

Nut and Tail Male Elbow Airline Tee Airline Elbow Airline Joiner P75 Hose Y Piece Male Branch Tee Reducing Nipple
2010302 3/16” /8” 2020302 3/16” /8" 20303 06014-03 3/16” 20403 06011-03 3/16” 20503 06007-03 3/16” - 06075-03 3/16” 2060302 3/16” /8" 3324M1202  M12x15 1/8”
2010304 3/16” 1/4” 2020304 3/16” 1/4” 20304 06014-04 1/4” 20404 06011-04 1/4” 20504 06007-04 /4" - 06075-04 1/4” 2060402 1/4” 1/8” 3224M1204  MI2x1.5 1/4”
2010404 /4" 1/4” 2020402 /4" /8" 20305 06014-05 5/16” 20405 06011-05 5/16" 20505 06007-05 5/16" - 06075-05 5/16” 2060404 /4" 1/4” 3224M1404  M14x1.5 1/4”
2010406 1/4” 3/8” 2020404 /4" 1/4” 20306 06014-06 3/8” 20406 06011-06 3/8” 20506 06007-06 3/8” - 06075-06 3/8” 2060502 5/16” 1/8” 3224M1604  MI16x1.5 1/4”
2010408 1/4” 1/2” 2020406 1/4” 3/8” 20308 06014-08 1/2” 20408 06011-08 1/2” 20508 06007-08 1/2” - 06075-08 1/2” 2060504 5/16” 1/4” 3224M1804  MI8x15 1/4”
2010504 5/16" 1/4” 2020502 5/16" 1/8” 20310 06014-10 5/8" 20410 06011-10 5/8” 20510 06007-10 5/8" - 06075-10 5/8" 2060602 3/8” 1/8” 3224M2004  M20x1.5 1/4”
2010506 5/16” 3/8” 2020504 5/16” 1/4” 20312 06014-12 3/4” 20412 06011-12 3/4” 20512 06007-12 3/4” - 06075-12 3/4” 2060604 3/8” 1/4” 3224M2006  M20x1.5 3/8”
2010508 5/16" 1/2" 2020506 5/16" 3/8” 20316 06014-16 1 20516 06007-16 17" 2060606 3/8” 3/8” 3224M2206  M22x15 3/8"
2010604 3/8” 1/4” 2020602 3/8” 1/8” 2060804 1/2* 1/4” 3224M2406  M24x2.0 3/8”
2010606 3/8” 3/8” 2020604 3/8” 1/4” 2060806 172" 3/8”

2010608 3/8” 1/2” 2020606 3/8” 3/8” 2060808 1/2* 172"
2010806 1/2” 3/8” 2020608 3/8” 1/2” 2061006 5/8” 3/8”
2010808 172" 172" 2020804 172" 1/4” 2061212 3/4” 3/4”
2011212 3/4” 3/4” 2020806 1/2” 3/8”
2011616 1" 1" 2020808 1/2" 1/2"
201M1508 15mm 172" 2020812 1/2” 3/4”

2021004 5/8” 1/4”

2021006 5/8” 3/8”

2021008 5/8” 1/2”

2021208 3/4” 1/2"

2021212 3/4” 3/4”

2021612 1" 3/4"

2021616 17 1

A b e r’ ’T"“\,
3\ A\ \ \ {
ALY {LARIRIAE

,77.‘3;:}" W, .

Female Connector Male Connector Swivel Male Connector Airline Reducing Joiner Lightweight Bulkhead Union Bulkhead Union Lock Nut Fuel Filter Adaptor - Long Nose
2070302 3/16” 1/8” 2090302 3/16” 1/8” 209ST0404 1/4” 1/4” 205R0403 1/4” 3/16” BUO2L 1/4” 1/8” BUO2 5/8” 1/8” 1m02 01074-02 G1/8” 06C-604 1/4” 1/2”x20 TPI
2070304 3/16” 1/4” 2090304 3/16” 1/4” 209ST0606 3/8” 3/8” 205R0504 5/16" 1/4” BUO4L 3/8” 1/4” BUO4 3/4” 1/4” 1104 01074-04 G1/4”" 06C-605 5/16" 1/2”x20 TPI
2070402 1/4” 1/8” 2090402 1/4” 1/8” 209ST0808 1/2” 1/2” 205R0604 3/8” 1/4” BUO6 7/8” 3/8” 11106 01074-06 G3/8” 06C-606 3/8” 1/2”x20 TPI
2070404 1/4” /4" 2090404 /4" 1/4” 2095T1208 3/4" 1/2" 205R0605 3/8” 5/16" 1108 01074-08 G1/2" 06C-704 1/4"BSP_ 1/2"x20TPI
2070406 1/4” 3/8” 2090405 1/4” 3/8” 209STI1212 3/4” 3/4” 205R0805 172" 5/16” 12 01074-12 G3/4” 06C-804 1/4"BSP  1/2”x20TPI
2070408 1/4” 1/2” 2090408 /4" 172" 205R0806 172" 3/8” me 01074-16 G1”

2070502 5/16" 1/8” 2090412 /4" 3/4” 205R1006 5/8” 3/8”
2070504 5/16” 1/4” 2090502 5/16” 1/8” 205R1008 5/8” 1/2”
2070506 5/16" 3/8” 2090504 5/16" 1/4” 205R1208 3/4” 172"
2070508 5/16” 1/2” 2090506 5/16” 3/8” 205R1210 3/4” 5/8”
2070602 3/8” 1/8” 2090508 5/16" 1/2" 205R1612 1 3/4”
2070604 3/8” 1/4” 2090602 3/8” 1/8”
2070606 3/8” 3/8” 2090604 3/8” 1/4”
2070608 3/8” 1/2” 2090606 3/8” 3/8”
2070804 172" 1/4” 2090608 3/8” 172"
2070806 172" 3/8” 2090612 3/8” 3/4”
2070808 1/2” 172" 2090802 1/2” 1/8”
2071006 5/8” 3/8” 2090804 1/2" 1/4”
2071208 3/4” 172" 2090806 1/2” 3/8”
2071212 3/4” 3/4” 2090808 1/2” 1/2”

2090812 1/2” 3/4”

2091004 5/8” 1/4”

2091006 5/8" 3/8” ‘

2091008 5/8” 1/2”

=) 2091012 5/8" 3/4"

" ! : 2091204 3/4” 1/4”

¢ "M.IWM‘W‘“' 2091206 3/4" 3/8"
il " e 2091208 3/4” 172"
S 2001212 3/4” 3/4”

2091216 3/4" 1"

2091608 17 1/2”

Fuel Filter Adaptor 2091612 T 3/4” Drain Cock 76 Male Breather Cap 406 Safety Valve Annealed Copper Tube Steel Bundy Tube
6C0405 1/4” 1/2”x20 TP 2091616 s 1 DC2 043030-02 1/8” 01076-02 1/8” 046406-1035-04 1/4” CcT02 1/8” 15m BTO3 3/16” x 0.028 Wall 7.5m
6C0505 5/16" 1/2” x20 TPI DC4 043030-04 1/4” 01076-04 1/4” 046406-1035-08 172" CTO3 3/16” 15m BTO4 1/4” x 0.028 Wall 7.5m
6C0605 3/8” 1/2"x20 TPI DC6 043030-06 3/8” 01076-06 3/8” CTO4 1/4” 15m BTO5 5/16” x 0.028 Wall 7.5m

DC 043030-08 172" CT05 5/16" 15m BT06 3/8”"x 0.028 Wall 7.5m
CTO06 3/8” 15m
cTo8 172" 15m

relianceworldwide.co.nz

R, 0800800523

INDUSTRIAL FITTINGS B4 sales.nz@rwc.com




